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dhATAIA-a1 (FMATE) — TECHNICIAN-B (MACHINIST)

Tl AR o o forg e At At wr sied & fran ) e 2

Act of joining the slip gauges together to build up to the size is called

(a) d9eeT / Welding (b) U / Wringing
(¢) R /Ringing (d) e / Binding
212° F qqH F T 2
Temperature 212° F is equal to
(@ 273°C (b) 100°C
(c) 100K @ 273K
4.3 34 TARTT B
5 9 4
Simplification of i+£-—E is
5 9 4

109 12
(@) m (b) 13

60 103

— d e
© 180 @ 100

AR (@ /b77) x(a” /6”)® =a™ xb" R, FHX: m iR nE

If (@*/57%) x(a” /5”)* = a™ x b" then m and n are respectively are

@ 3x+3y,(3x-3y) () -—-Gx+3y),(Bx+3y)
© x+y,-(x+y) @ -G+y), (x+y)

27 3t 4 e B i Rs. 90 2 o 3 7 37 7 dvee 9 B Re, 155 2 2 v 72 3 dhor
H9a A ?

Cost of 2 Nuts and 4 Bolts is Rs. 90 and cost of 3 Nuts and 7 Bolts is Rs. 155 then unit price of Nut
and Bolt respectively are

(@ Rs.20andRs. 5 (b) Rs.10andRs.5
(¢) Rs.5andRs. 20 (d) Rs.5andRs. 10

ﬁw‘R'aﬁtﬁé'H'%mwﬁ%@mmﬁmﬁw%ﬁaﬂw,aﬁﬁww
aﬁt@ﬁéﬂ’%w‘@wmwmﬁﬂaﬂ%ﬁmmﬁmﬁmmmm?

Water needs to be filled in to a cylindrical vessel of radius ‘R’ and height “H’ using a conical vessel
of same base radius ‘R’ and same height ‘H’. How many times the water needs to be poured in to
cylindrical vessel using conical vessel?

@ 1 ®) 2
© 3 @ 4
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10.

JL.

12.

o T2 % o & P wa e W O Avs § e 31 Tecd WG % HROT @O H 10 m/s? WH At IS
i $aré el ® 3i e 97 @ wa ol o FRm?

A fruit falling from tip of a tree reaches ground in one second. Considering acceleration due to
gravity as 10 m/s2, what is the height of the tree and velocity with which the fruit hits the ground?

(@ 10 m, 5 m/s (b) 5m,10m/s
() 4m,95m/s (d 6m,4m/s

o T W, Fre 3 S 4 iR At A 2 S i 1000 kg F HR ! ISAT M@ § q@
U7 TR0 B 2T S AR IIM B IWE 2

A load of 1000 kg is lifted using simple machine having velocity ratio of 4 and mechanical
advantage of 2 then the efficiency of the machine and effort required to lift the load respectively are

(@) 75%,250 kg (b)  50%, 500 kg
©) 90%, 150 kg d 40%,300kg

& 3 mm e 1 MS e §, 10 mm ¥ iR S sHE S 8 At 35 Tie i B 6 qin 300
N/mm2 &, @ 3¢ F0 # ST T =2EaE 99 8

A square hole of size 10 mm needs to be punched in a MS sheet of thickness 3 mm. If ultimate
shear strength of Mild Steel is 300 N/mm? then, the minimum force to be exerted by punch is

(@) 12kN (b) 5kN
() 7kN (d 36kN

S T ST R A A1 Q) A AR FeA F ITHEN F AT Y A0 B F AR, WA HEA @

When milling is carried out by combination of two or more cutters mounted on single arbor, then it
is called as

(@) =1 fafgn / Gang milling (b) Wsa fafgn / Straddle milling
(c) %u fafgm/ Face milling (d) e ffgm / Slot milling

ﬂ'%xz—4x+3=0%,iﬁ‘x’aﬂ¥lﬂ%

If x* —4x+3=0, then the value of “ x’ is

(@ -3,1 (b) -3,-1
) 3,1 ' (dy- 3.-1

qfid ¥ et o da h Bl o T & Hor, Juor weie f Rl A o E
Condition of a grinding wheel due to clogging of particles of work piece in to the wheel is called

(a) 2R / Truing (b) =M1/ Glazing
(c) @fem /Loading (d) HgeiERwE/ Balancing
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13.

14.

15,

16.

17.

18.

Ifg 20 mm =¥ % B¢ W T 0.2 mm 8 3K 20 mm =T % 5U8 H Tt £0.2 mm 3, 9 sHE
I8 ¥ BT

If tolerance on the Dia 20 mm hole is + 0.2 mm and tolerance on Dia 20 mm shaft is £0.2 mm then
it will lead to

(2)
(©

=g f%e / Clearance fit (b)
i~ fhe / Transition fit (d)

St T fe 251658240 [ gfr s 3
The geometric tolerance symbol 251658240 * indicates

(a) ETERIRET / Circularity (b)
(c) = / Concentricity @
2kWh = J

(@ 3.6x10%J (b)
(€) 3.6x10°J (@)

T 12 cm 1 S91E % TR Bys 1 o g omuR @

S H e / Interference fit
% fthe / Shrink fit

SRR / Cylindricity
WSS / Position

T7:2510°%T
7.2x103J

cm $ g W @@ R

The centre of gravity of a right-angle triangle having a height of 12 cm lies at a distance of

(@
©

cm from the base?
6 cm (b)
4 cm (d)

3cm

8 cm

ST Vs T T o SFerta TG 89 31 w1 Rmarar 27
Area under Velocity vs Time graph gives

(8) ¥ AT / Total Velocity (b)
(c) & =W / Total acceleration (d)
ST ST ot AR qrfenia f S

Velocity ratio is defined as
ST ERT =t TR g SR R gr et 7€ g F 1A / Ratio of distance moved by effort to

@
(b)

©
(d)

distance moved by load

% faemT / Total displacement
37Ed 3 / Average Velocity

R gT eft 7% gl 3k s grr wreht 7 gf s / Ratio of distance moved by load to

distance moved by effort
WR 3R YA I I / Ratio of load to effort

YA 3 9R % A / Ratio of effort to Load
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19.

20.

21.

22,

23.

24,

25.

& 80°C W 10 forex 7 9wt i 100C ¢ 10 Frex 32 it F fireman e B, 1 fryor 1 Qe R

When hot water of 10 litre at 80°C is mixed with 10 litre of cold water at 10°C, then the temperature
of mixture is

() 40°C (b) 45°C
) 35°C d) 30°C

aﬁwmﬁga%ﬁnzzovﬁizkwﬁmw%,ﬁﬁﬁnmmuﬁﬁu ?

If a water heater power rating is given as 220V & 2kW, then the resistance of heating coil is

(a) 54.2Q (b) 442Q

() 342Q d) 242Q

Tehel ST I ITHR 2

Shape of knuckle thread is

(@ @ /Square b)) V

(c) wwes / Trapezium (d W= /Round
e i Y A Afeas fFA ST 2

The cutting speed is expressed in

(a) m/min (b) cm/s

(c) mw/hr (d) mm/min

7R S e 6 waear 7.8 glec T S @, @t 1 m? (g = 10 m/s2 %1 FH HFEH ) IR i
g % WR 1 g1 A

If the densit); of Stainless Steel is given as 7.8 g/cc, find the weight of an object whose volume is
given as 1 m’. (Assume the value of g=10 m/s”)

(@) 78,000kg (b) 7800 kg
(c) 7800N (d) 78,000N
Ra 0.025 ¥ 1.6 p % gag! fhiar =i zra feaman s g 2

Surface finish of Ra 0.025 to 1.6 p can be represented by
(a) U Sea B / Single inverted triangle

(b) T2 3eer BRI / Double inverted triangles

(c) < See BeAoT / Three inverted triangles

(d) =R 3ee BT / Four inverted triangles

F H T AR A B TeR % R fe § A e wsEm s S e s 27

Which of the following heat treatment process is employed to reduce the hardness and to increase
the toughness?

(a) ¥ RfAfeT / Stress relieving (b) AT / Annealing
(c) 2w / Tempering (d) == / Normalizing
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26.

27.

28.

29.

30.

31.

32.

U A 1T 9 U AT i % ST o SRR S 6, e I

The property of a material to resist the effect of tensile forces without rupture is called as

(@) T=wT / Ductility (b) <= / Elasticity
(c) gear / Tenacity (d) s /Hardness
T - STehg et ATy Y H, =1 GHATRE 107 B 2|
Self-holding metric taper has an included angle of

(@) 15°45 (b) 2's17s51”

() 13°26°5” d 7°4 15

(1-cos24)/sin24 =

(@) cot4 (b) cosecd
(c) secd (d tan4

REREIRETG RN T2y I R e 1:2% g A 2, @t Frerfoes & & <t woegds &9 ¥ s

T 2, SEH AT TRy

If diagonals ‘d;” and ‘d,’ of rhombus are in the ratio of 1:2, then find among the following which is

not equal to area rhombus

@) df ®) o2
© ‘hdxd, @ dyxd,

STl T W o G & 1:2 % I & §, o S ' R, Al SR & THE 1 o g
If parallel sides of a trapezium are in the ratio of 1:2 and the height is ‘h’, then the center of gravity

of trapezium from the base is

(@ 4h/9 (b) 4h/3
() 3h/4 (d) 94

@ foemeht Tl x2 —4x+3=0 1, a1 ok g W

Sum and product of roots of a given quadratic equation x? —4x+3=0 are

(@ 4,3 ® 4,3
) 3,4 d -3,4
SN % $ gEIferd Hior 3

The total included angle of a hexagon is

(a) 360° (b) 540°

(c) 720° (d 900°
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34.

35.

36.

37.

38.

et T T 8% T SR &

Drilled hole is an example for
(a) fg-wifede weran / Bi-lateral tolerance (b) UH-IfEde waral / Uni-lateral tolerance

(c) wa&d /Interference (d) I # ¥ FiE T / None of the above

aaﬁa%éwﬁaaﬂtméiﬂ%éwmm%aﬁaﬁﬁ%ﬂwﬁ%

Positive allowance between the largest po ssible hole and the smallest possible shaft is

(2) weaay fe /Interference fit (b) ufadA e / Transition fit

(c) Tepmeft e / Clearance fit (@ 9w d & S 7E / None of the above
3R F wgET T

The tool reciprocates in

(2) iftm =efe / Shaping machine (b) Uwur mefE / Milling machine

(c) wenfs wai / Planning machine (@) 3w d & FE T8 / None of the above
T At T 1 AERAE 0

Essential property of cutting fluid is

(a) ¥= v fg / High flash point

(b) = afi fog / Low fire point

(c) M 3f 3% ¥ foaq dawes / Corrosive to machine and work
(d) emmeEfi / Opaque

CNC =t shonfedim # GO3 ®

In CNC part programming, G03 is

(2) 5 35€ /Rapid Traverse

(b) Y@ &9 /Linear interpolation

(c) IR & ugt i feun # / Circular interpolation clockwise

(d) TR & °S A fyofiq s / Circular interpolation counter clockwise

= m%wﬁww,vﬁ@ﬁ@%%ﬁﬁmw%ﬁ@ﬂwﬁ%ﬁﬁﬁﬁ
|

type of gears are used to connect shafts which are at an angle but not intersecting.
(a) wdurss fer/ Hypoid gears

(b) ©Re 33w i / Spiral bevel gears

(c) e e 9 fr / Straight tool bevel gears

(d) 3w ¥ @ =E 7 / None of the above

8 706 TE(M)



39.

40.

41.

42.

43.

44.

HIH 1 39, B % 1w ot 3R W vt F 9= 2

machine is used to make accurate and precision location of holes.

(a) Tefgm (32 %) /Drilling (b) W /Milling

(c) @< sAMT / Slotting (d) FRmr-sifeT / Jig-boring
Teft 2w fit &1 SR AT 2l

All taper pins have a taper of

(a) 1:50 (b) 1:30

© 2:30 @ 1:60

T W% <l Tag F WY Fedt g % U ok A WgR @ I uv R

is the path generated by progressive rotation of a point moving along a surface of a

cone.
(a) Fvsa /Helix (b) WaT™ /Parabola
(c) wftfa / Spiral (d) sAfdwEe™ / Hyperbola

Frefafes & @ Sa-d shrn = sva, 9 % o scaeT & ST 27

Which of the following processes are employed in mass production of thread?

(a) ¥, Tha g F F ITHT GRT IS HreT / Thread cutting by single point cutting tool in
lathe

(b) 9IS W G U< HE / Thread cutting by thread chasers

(c) 9 ffgm / Thread milling

(d) 9= AT / Thread rolling

e 3 fg@ R T e 3¢ Rty s A% wer S i uhe weer 2

The process of enlarging a previously drilled cylindrical hole to a certain depth is_éalled as

(@) &ffFT /Reaming

(b) =feT/Boring

(c) =R& T / Counter boring
(d) 3wt/ Trepanning

afe, et wmmft <t werar 3 glec @ @ I wEEh F 10 em B F M w1 wR T AW

If density of certain material is 3 g/cc. What is the weight of sphere of a radius 10 cm of same
material?

(a) 4nkg (b) 2mkg
(c) 400g (d 300g

9 706 TE(M)



45.

46.

47.

48.

49.

50.

S1.

T 2 kg ZEH 1 FEG, 10 m/s % A & 5o & 21 39 fvg hi e =t w2

An object having mass of 2 kg is moving with a velocity of 10 m/s. What is the kinetic energy
possessed by the body?

(a) 30017 (b) 200J

(c) 2401J (d 1007

a7 T 1g, Wied A1 gehe T AE gt @, ————— B el Sl g
If a metal is not breaking on twisting and bending, it is said to possess

(a) 3@l / Malleability (b) =@t /Ductility

(c) smA /Hardness (d) #Hsiet / Toughness

T 1 i [0l 10 om B1 @ 1 W SAES B

The diagonal of a square measures 10 cm. Then the area of square is

(a) 100 cm® (b) 50 cm?
(c) 500 cm’ (d) 150 cm®
18:4:1 3= T A hl T B

The composition of 18:4:1 high speed steel is

(@) 18% shifrm, 4% JAfeam 3R 1% TR / 18% Chromium, 4% Vanadium & 1% Tungsten
(b) 18% T T, 4% whifEm 3f1T1% aAfea™ / 18% Tungsten, 4% Chromium & 1% Vanadium
(€) 18% A, 4% IAfEam 3R 1% hifeam / 18% Tungsten, 4% Vanadium & 1% Chromium
(d) 18% TTEA, 4% FHifem 3R 1% Feha / 18% Tungsten, 4% Chromium & 1% Nickel

S Ul o dod TR TR W 7 SR T wea 4 gid ¢ df 3 ed 2

When shafts of bevel gears are at right angle and have same number of teeth then are known as
(a) Tuiss FRR /Hypoid gears (b) T FrRr / Mitre gears ’
(c) R iR / Herringbone gears (d) el FrR / Planetary gears

iR % U 9 3R q@ g9 & = i 1 gt A 5 7

The radial distance between pitch circle of gear and root circle of gear is called

(a) HisI /Module (b) we /Addendum
(c) s /Dedendum (d) <vs /Land

el & & S-a1 sgfig Fe % g 37
Which of the following is multipoint cutting tool?

(@) e i /End mill (b) Twidgu 3w / Slitting saw
(c) T /Reamer (d) 3% @t / All of above

10 706 TE(M)



52.

53,

4.

35.

56.

i

T SR TH g, ST 32 1 S9N H T 60 mm SATE % el & B W, 30 &id BT Her
31 TR wiz o 20, 30, 40, 50 B4 % 8% ¥ 8 S H vl F Rie o R  weew,
frefafea & @ w-ar 27

30 teeth gear need to be cut on a blank of diameter of 60 mm using indexing head by simple
indexing method. The indexing plate has hole circles with 20, 30, 40, 50 holes. Then which of the
following combinations is correct indexing for above requirements?

(@) 199 o + 3035 39 & 10 82 /1 full revolution + 10 holes in 30 hole circle

(b) 1o + 4035 39 % 15 92 /1 full revolution + 15 holes in 40 hole circle

(© 19ieuR + 503599 # 12 92 /1 full revolution + 12 holes in 50 hole circle

(d) 50359 & 1433 / 14 holes in 50 hole circle

ST e o P At e o Fre % e A R, Aot R § @ @ 3z Fee 2

When direction of rotation of cutter and direction of feed motion are in opposite direction then it is
called

(a) = I9v1 / Up milling (b) 3rEHE Y97 / Down milling

(c) @it 9w / Slot milling (d) =gTE YW / Climb milling

TR T +f} T ST R

Master gauge is also known as

(a) =M A / Workshop gauge (b) R® IS /Reference gauge

(c) ¥EIFE A9 / Inspection gauge (d) ST F A A 7€ / None of the above
f3 st A = STSRAT G SHTET ST R

Double ended spanners are made by ——— process.

(a) %o /Casting (b) $M TETs / Drop forging

(c) Uwor /Milling (d =M / Turning

BifosT TR Y T gl R

Hobbing is a process of generating a

(@) fRR /Gear (b) Bg /Hole

(c) 9uR ¥ag / Flat surface (d) 390w d A 9 78 / None of the above
B F 1 ISR HT 3T = fore g R

Boring tool is used for

(8 %M /Drilling a hole

(b) ITTFR B2 B T FA / Enlarging a cylindrical hole
(c) ¥R FRR e / Cutting spur gear

(d) STUF T A 1S 78 / None of the above

11 706 TE(M)



58.

59.

60.

61.

62.

FEgE Yoo §

In down milling

(a) i 5@ =Ea @ Sferay 7 i 37 FA A 5ga1 § / Cutting force increases from minimum
value to maximum value gradually

(b) T o @AM @t @ / Cutting force remains same

(c) e 5@, fmad & = TF i 3 FH & gear @ / Cutting force decreases from maximum
value to minimum value gradually

(d) s § @ SIS 71 / None of the above

e R 3 (O % onf 3

The meaning of @ in engineering drawing is
(a) <=9 /Diameter

(b) gaERIRar / Circularity

(c) semmRRar / Cylindricity

(d) wfgzar / Concentricity

¥ wey #, Tk e o fog /= =i, sIgeAdT 8

The point angle/cutting angle of drill varies with respect to

(a) Ts&@ %1 @R / Size of the drill

(b) Tew R 9 archt wmaft < %1 / Hardness of material to be drilled
(c) T wef 1 WK / Type of drilling machine

(d) Te1 =1 2ferm =i / Helix angle of drill

2 et X o Y’ @& A @ W8 T ¥l AR X fredt % =@ 1000 mm ® 3R 3@ht Tfd 500 rpm
2, @ IR Y F 1l 200 rpm R T IHHT A T MY

Two pulleys ‘X’ and ‘Y’ are connected by open belt. If, diameter of X pulley is 1000 mm and its
speed 500 rpm, what will be the diameter of Y, if its speed is 200 rpm?

(a) 500 mm (b) 3500 mm
(c) 400 mm (d 2500 mm

66 m/min 3 F4T TR &, P60 mm F IS H A F AT, THA F rpm T e TN (7 =22/7 A
" HIHY)

Calculate the rpm of spindle for turning a shaft of ®60 mm with a cutting speed of 66 m/min.
(Assume value of w = 22/7)

(@ 350rpm (b) 250 rpm
(c) 450rpm (d 500 rpm

12 706 TE(M)



63.

64.

65.

66.

67.

68.

foog smamdt woneht o, fafoy R % fve # ww fFn w7 T 2

In a hole basis system, different types of fits are achieved by

(a) Tom % =R i ffea 3k gve % R i TR W@ / Varying the hole size and keeping the
shaft size constant

(b) s % R Hi ffdwar ik fog F MR A R T@H / Varying the shaft size and keeping
the hole size constant

(c) Tz ok qvs & s it fafeerar / Varying both hole and shaft sizes
(d) e = Fehr W eTia, fosg = que i fafererm / Varying hole or shaft size depending upon

type of fit
it S Sie g F fag 1 I o ST Heha R
For holding irregular shaped job —————— is used.

(a) o =St # W Hfd 9 / Three jaw self-centering chuck
(b) e @ / Collet chuck

(c) =R Ser W@ 9% / Four jaw independent chuck

(d) 3EF A S8 T& / None of the above

CNC wef & weptet ——— )

Encoder in CNC machine is a
(@) YAMeRH 3T / Feedback device

(b) ¥ 39HW / Transmission device
(c) <Us Fufert 3= / Shaft coupling device
(d) seeTtaa f&= / Hydraulic switch

251658240 e—@ g gt o 2|
251658240 symbol indicates :
(a) o IO &Y / 1% Angle projection  (b) e v wawur /2 Angle projettion
(c) T v w&ww /3" Angle projection  (d)  igef o1 wATT /4™ Angle projection

sﬁ%ﬁaﬁn%ﬁﬁmmﬁ@%ﬁz%ﬁﬁﬁm@ﬁﬁmﬁwm%

In engineering drawing, the ratio of length to width of an arrow head of a dimension line is

@@ 1:1 (b) 1:3

) 31 (d 43

T 314 mm T 3R 100 mm e % SAEaER e B, 100 mm S9E * Srad S0 F o 3
HHRIT ST, qt, S 1 =0 @ | (m=3.14 <ifSw)

A rectangular sheet of length 314 mm and width of 100 mm is rolled into a hollow cylinder of

height of 100mm, then the diameter of cylinder is (Take = 3.14)

(@ 10mm (b) 10cm

(¢ 10m (d) S A & IS T8 / None of above

13 706 TE(M)



69.

70.

71.

72.

73.

74.

75.

TF 1 m H S, 2 m AR AW & AF 1 THATTT R 8

The included angle of a cone with base diameter of 2 m, height of 1 m is

@ 30°
) 60°

(b)
(d)

45°
90°

I, U I T TR Qe 54 cm2®, O T % 94 W s 2

If surface area of a solid cube is 54 cm?, then the length of side of the cube is

(a) 6cm
(¢) 3cm

(b)
(d)

9cm
12 cm

3mx4mx12m T AT F T FR T G THaTe @ Heqe el @ f ifma T 2

What is the maximum length of single imaginary straight line that can be drawn in a room of

dimensions 3mx4mx 12mis

(@ 15m (b) 14m

(c) 13m (d 19m

v Wi i F gua o Y ot g O 33 B T X I ST HehaT 2
The fastest cooling rate is obtained when steel quenched in

(a) o /air (b) = /oil

(c) & /water (d) <91 /brine

A W g Rf Fowers # O (Rroan) FrR s g g

Back-gear is used in cone pulley headstock on lathe

(a) Y sIgM % fAC / To increase speed
(b) 7% wer™ % Y / To decrease speed

() % i e ufafda * % Y / To change the direction of speed

(d) ¥ @ =5 T / None of these
185! 9 1AM ]

The value of 1 micro inch is

@) 0.000001”
() 0.0001”

it uftwy w1 Fa iy B

(b)

0.00001”

@ 0.001”
f 3 wfus R Q, T, S T Avft # TR 98 8, W T o7 whies 2R Q@ Rrlie | 98 §

If two resistances “R Q” each that are connected in parallel are in series with another resistance of
“2R Q7, then the total resistance in the circuit is

(@) 3RQ ®) 1Q
© 35Q @ 25Q
14

706 TE(M)



